	[4]
ln 4 = ln 3 (5)	M[*
(3x-1) ln4 = ln3 + x ln5	Al
(3ln4-ln5) x = ln3+ln4	DM I *
⇒ X = <u>ln3 + ln4</u> 3ln4 - ln5	
= 0.975	A1 *

1. Use logarithms to solve the equation $4^{3x-1}=3\,(5^x)$, giving your answer correct to 3 decimal places.

2. Solve the inequality $ x-3 > 2 x+1 $.			
$ X-3 ^2 > (z X+1)^2$	B+		
$x^2 - 6x + 9 > 4x^2 + 8x + 4$			
3 x + 14 x - 5 < 0			
3 -1	AI		
3 -1			
(3x-1)(x+5) < 0			
(3 × -1) (
-5 < X < 3	Al		
-5 < X < 3			

*			

correct to 3 sign	iticant figures.	lve the equation $2\log$			[5]
X>C	2				
	0	2 / 0	. 0 - 0	V 11)	M
	log x	$r^2 = \log 8$	+ logi	ATI	
	/ 2	2		• • • • • • • • • • • • • • • • • • • •	MI
	V	9			
		• • • • • • • • • • • • • • • • • • • •			
	, 2	0.0			
	·····				
• • • • • • • • • • • • • • • • • • • •				• • • • • • • • • • • • • • • • • • • •	
	12 - 5 X	-8 = 0			AI
		0			
		8 ± 164 +3	2	4.±.2√6	L A.A
				4.±.2.1.6	1
		2			
	<i>⇒</i>	= 4+2√6			A1
	-) X	= 4+2V6	= 8.90		
	88				

(i)	Prove the identity $\cos 4\theta + 4\cos 2\theta \equiv 8\cos^4\theta - 3$.	[4]
	(0) 40 = (0) (20 +2)	B1
	$= 2 \cos^2 20 - 1$	M
	$= 2 (200^{2}0 - 1)^{2} - 1 + 4 (200^{2}0 - 1)$	··· A 1
	= 2 (4 00 - 4 00 0 + 1) -1 + 800 0	-4
		··· A1
	= 8005'0-3	
		•
э		
		. ',

(ii)) Hence solve the equation $\cos 4\theta + 4\cos 2\theta = 1$ for $-\frac{1}{2}\pi \leqslant \theta \leqslant \frac{1}{2}\pi$.	[3]
		B+
	$\cos \theta = \frac{1}{2}$	
	$\cos^2 0 = \frac{\sqrt{z}}{2} = 2^{\frac{1}{2}} \cdot 2^{-\frac{1}{2}} = 2^{-\frac{1}{2}}$	
	cos0 = ± 2	
	$-\frac{\pi}{2} \le 0 \le \frac{\pi}{2} \Rightarrow \cos 0 > 0$	
	$\Rightarrow \cos 0 = 2^{-\frac{1}{4}} \Rightarrow 0 = \pm 0.572$	B

*		

Find the values of a and b .	
$\rho\left(-\frac{1}{2}\right)=0$	
$\begin{cases} \rho(-z) = 9 \end{cases}$	
$2 \cdot (-\frac{1}{8}) \cdot + 5 \cdot \frac{1}{4} - \frac{\alpha}{2} + b = 0$	A1
$\begin{cases} -16 + 20 - 2a + b = 9 \end{cases}$	M.J.
	A1
\Rightarrow a = -4, b = -3	
······································	

(ii) When a and b have these values, factorise $p(x)$ completely.	[3]
$\chi^2 + 2\chi - 3$	A.1
$2 \times +1 $ $2 \times x^{3} + 5 \times x^{2} - 4 \times x - 3$ $2 \times x^{3} + x^{2}$	
$4x^2 - 4x - 3$ $4x^2 + 2x$	MI
-6x-3	
$p(x) = (2x+1)(x^2+2x-3)$	
= (2x+1)(x+3)(x-1)	Al
$\rho(-\frac{1}{2}) = 0$ MI	
$\begin{cases} P(-\frac{1}{2}) = 0 & M1 \\ P(-\frac{1}{2}) = 0 & M1 \end{cases}$	
(z(-\$)+ = P K	
216+22)-	
·	

3 a= -4, b--3, M

6.	(i)	Express $\sqrt{6}\cos\theta+\sqrt{10}\sin\theta$ in the form $R\cos(\theta-\alpha)$, where $R>0$ and $0^{\circ}<\alpha<90^{\circ}$. the value of α correct to 2 decimal places.	Give [3]
		$R^{2} = (\sqrt{6})^{2} + (\sqrt{10})^{2} = 16$	
		> N= 4 B1	
		4 (\frac{\sqrt{6}}{4} cos0 + \frac{\sqrt{10}}{4} sih0)	
		$\Rightarrow \cos \alpha = \frac{\sqrt{6}}{\sqrt{6}}$	
		A1	
		=> 02 = 0.24 & 2.24°	

	equation	[0]
	(a) $\sqrt{6}\cos\theta + \sqrt{10}\sin\theta = -4$,	[2]
	4 603(0-52.24°) = -4	
	0-52.24° = 180° + k.360°	
×		MI)
	⇒ 0 = 23.2.24° + k.360°	
.25		
	Omiq = 237.7°	(A1)
	(b) $\sqrt{6}\cos\frac{1}{2}\theta + \sqrt{10}\sin\frac{1}{2}\theta = 3$,	[4]
	4 cos(±0 - 52.24°) = 3	(M
	$\frac{1}{2}0 - 57.24^{\circ} = \pm \log(\frac{3}{4}) +$	1.360 (
10	$0 = 197.3^{\circ} + 16.72^{\circ} / 0 = 21.3^{\circ}$	1" + K. 720
	Omin = 21,7°	(Ą

	6
	an the term in
(ii) Hence obtain the expansion of $f(x)$ in ascending powers of x , up to and includi x^2 .	ng the term in [5]
$(1+(-\frac{2}{3}X))^{-1} = \frac{1}{4}(x+2)(1+\frac{2}{3})^{-1}$	٧٤٠٠٠
(1+(-3x)) = -7(x+2)(1+3	
	M
$= 1 + \frac{2}{3}X + \left(-\frac{2}{3}X\right)^{2} - \frac{1}{4}(X+2)(1-\frac{1}{3}X)^{2}$	<u>x</u>)
= (+3x + (-3x) - 4(x+2)(A 1
3	AI M
$\frac{2}{2} + \frac{4}{3} + \frac{2}{3} + \frac{2}$	
$= +\frac{3}{3}x + \frac{4}{9}x^2 - \frac{1}{4}(x + 2 - \frac{x^2}{2})$	MI
$=(1-\frac{1}{2})+(\frac{2}{3}-\frac{1}{4})\times+(\frac{4}{9}+\frac{1}{8})$	X +
$= \left(\left(\frac{1}{2} \right) + \left(\frac{3}{3} - \frac{4}{4} \right) \right) \times \left(\frac{4}{3} - \frac{8}{4} \right)$	
= \frac{1}{2} + \frac{12}{12} \times + \frac{141}{72} \times^2	A
- = 1 12 1 72	

THE END	
11	76,